MEOERRES )=V IRE—E

A= LERE L 5+EE £5+VIO £ 5+E8+VIO
ISFILIY=YY 68,000 129,000 68,000 129,000
CRAY)=v) — 67,800M — 133,800M
JEH) =99 64,800/ 90,400M 70,400/ 129,800
HEERYIY=ZvH 6[a:77,400M — — 6[E:155,700M
TCBRREAFRERNF 198,000H 298,000 298,000 389,000M
HoF LERNE 135,300 — — 6[3]: 345,800M
LS—F451=ws 205,000M 294,500/ 280,250 360,000M
TSLH)=wh — — 75,900 218,900
WTI)=9h 165,000 187,000H 187000M —
FESINE EHRELGL — — —
HEITH) = 1/@: 19,800 1[3: 26,800 1[E]:29,600H 1[d: 36,600/
RERVI)=VY 263,780M — — 362,780
T+——RAXERERERII=vY 188,925M 214,500/ 214,500/ 226,875
HFEMEYTILRRD) D EBRRKER 165,000 225,500/ 224,400 284,900
wEILEY)=v) 283,700M — — 277,200
HERRY) =) LHBELL — — —
MEILIFRY=vH 6[a]: 880,000 — — —
J/9) =y — — — 1[H1: 96,400
HWEDYHY=yY LHRELGL — — —
EF7FL—H—H)=v)H — 1[H: 30,000 1[2]:30,000H 1[H: 36,000
IS5H b 81,180M — — —
KOBER[EF V) =v% 264,000 — — —
Hy=—4 126,500 236,500/ 236,500/ 291,500
R—FREXIH)=wh 550,000 — — 770,000
XA/ BHEZE
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